

COUNCIL MEETING DATE: May	14, 2024		
SUBJECT/REASON FOR AGENDA IT	TEM:		
Temporarily Alcohol Permit Waiver Other:			
Please be specific about the real A resolution to authorize the pur weapons from Practical Tactical	chase of ess	ential equipment for the (110) G	lock 47
Requested By: Police Departmer NAME: Mayor Pete Panepinto ADDRESS PHONE # EMAIL:			
PHONE #	CELL PHONE	: :	
EMAIL:	FAX		
Please note that the Hammond City Counc East Charles Street, Hammond, LA 70401, Wednesday prior of the meeting no later t cockerham_la@hammond.org or fax (985)	All requests have than 4:30pm, All	e to be submitted to the City Council Clerk requests can be submitted electronically to	by the
**********			*****

DATE RECEIVED:		TIME RECEIVED:	
Council Clerk: <u>Lisa Cockerham</u>	Agenda Iter	n Number	
Approved:	(Yes)		(No)
Remarks:	***		
Kip Andrews Council President			
	_		
Date			

3 Quotes Received

Company	Equipment Total Cost
Practical Tactical	\$48,018.30
TEECO-Louisiana	\$49,789.30
Baton Rouge Police Supplies	54,481.90



Quote

11115 Industriplex Blvd Baton Rouge, LA 70809 Suite 800

(225) 636-5699

Requesting Agency Name:	Quote #	DATE		
Hammond Police Dept.	42924_2aw	4/29/2024		
Attn: Bryce Godwin				

Email: brycetaylorgodwin@gmail.com

DESCRIPTION	QTY	UNIT PRICE	AMOUNT
Holosun 509T, Red circle dot, Solar, #HE509T-RD X2 LEM	110	335.94	36,953.40
CH Plate, G47/509T, Steel	110	58.59	6,444.90
Ameriglo suppressor sights #GL-429	110	42.00	4,620.00
Thank you for your business!	SUBTOTAL		48,018.30
	TAX	RATE	0.00
	TAX		0.00
	SHIP	PING	
	TOT	AL	48,018.30

This is a quote and not a contract for goods or services. Sales transactions are binding only after customer acceptance of our quote. Quotes are not valid unless issued by a Practical Tactical employee. Quotes are good for 30 days unless otherwise stated in writing.

•	
Authorized Customer Acceptance Signature (if required) :	Date:
Printed Name:	

If you have any questions about this quote, please contact

TEECO - LOUISIANA

PO Box 7784 1360 Grimmett Drive Shreveport, LA 71107 Voice: 318-424-5176

www.teecosafetyinc.com

Quoted To:

City of Hammond 120 South Oak Street Police Dept Hammond, LA 70401

Phone: 985 542-3500 Fax: 985 542-3595

QUOTATION

Quote Number: 20118

Quote Date: Apr 29, 2024

Page: 1

4% Fee on all Credit Card Transactions

Ship to:

Hammond Police Dept. 106 North Cherry Street Evidence/Fleet Hammond, LA 70401

CustomerID	Good Thru	Payment Terms	Sales Rep
HammondC	5/29/24	Net 30 Days	Scott Smith

Quantity	Item	Description	Unit Price	Amount
110.00	HOLO-HE509T-RD-X2LE	HOLOSUN #HOLO-HE509T-RD-X2LEM REFLEX SIGHT FOR PISTOL,	344.00	37,840.00
		RED CIRCLE DOT, SOLAR FAILSAFE, SHAKE AWAKE, (LEO ONLY)		
110.00		C & H PRECISION #GL-509T-ST MOUNTING PLATE FITS GLOCK MOS	58.79	6,466.90
		SYSTEM		
110.00	SAF-6390RDS-8972-131	SAFARILAND #SAF-6390RDS-8972-131 ALS MID RIDE LEVEL 1 DUTY	135.00	 14,850.00
		HOLSTER WITH RDS AND TACTICAL LIGHT, BLACK, STX TACTICAL,		
		RIGHT HAND - GLOCK 47		
13.00	SAF-6390RDS-8972-132	SAFARILAND #SAF-6390RDS-8972-132 ALS MID RIDE LEVEL 1 DUTY	135.00	- 1,755.00
		HOLSTER WITH RDS AND TACTICAL LIGHT, BLACK, STX TACTICAL,		
		LEFT HAND - GLOCK 47		
110.00	AMERIGLO-GL-429	AMERIGLO- GL-429 - XL HEIGHT SET FITS ALL GLOCK MODELS, OPTIC	49.84	5,482.40
		COMPATIBLE BLACK SERRATED .315 IN. FRONT .394 IN. REAR		
1.00	SAF-QUOTE#	SAFARILAND QUOTE # FOR LA STATE CONTRACT#4400025542 DUTY		
		GEAR ORDERS		

LOUISIANA STATE CONTRACT

Whelen - #4400018761
Point Blank - #4400020593
Safariland-Bianchi-Def Tech-Monadnock - #4400025542

TOTAL	-66,394.30
Sales Tax	
Freight	

Quote # 15562

Baton Rouge Police Supplies

From:

BATON ROUGE POLICE SUPPLIES

9530 CORTANA PLACE BATON ROUGE, LA 70815

225-924-4948

To:

HAMMOND POLICE DEPT

120 S. OAK ST. HAMMOND, LA 70401

Mail #:

AR Acet #: 136

4/29/2024 3.34.22 PM

	rage i
Disc	Net Sale
	070.00

Fold Here AR Acct #:	136	Clerk# 1				Page 1
Item#	Description 1	Style	Order Qty	Price	Ext Disc	Net Sale
HE509T-RD X2	HE509T-RD X2 LEM	HE509T-RD X2	1	370.39	0.00	370.39
19614	V4 MIL/LEO STEEL ADAPTOR PLATE	GL-509T-ST	1	64.95	0.00	64.95
GL-429	AMERIGLO SUPPRESSOR HEIGHT STGHTS	GL-429	1	59.95	0.00	59.95

Subtotal Sales Tax 495.29 0.00

XIIO

\$ 54,481.90

Total Charge

495.29